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PROBLEM (1)

Determine the maximum demand of a single domestic electrical 

installation supplied at single -phase with the following load:

24 lighting points

10 m of lighting track

9  x10 A single socket-outlets

8 x 10 A double socket-outlets

1 x 50 W exhaust fan

1x 1 000 W strip heater

1x 15 A socket-outlet

1x10000 W range

1x4800 W water heater

1x 3000 W tennis court lighting

SEE WHITE BOARD-MANUAL CALCULATION, COPY IT



MAXIMUMDEMAND

(a) 24 light points  -----------------------------------= 24 pt

Lighting track, Foot Note (d) 2 pt/m  x 10m= 20 pt

Exhaust fan  (also taken as light point)      =      1 pt

---------------------------------------------------------------------------

Total light points                                             = 45 pt

Table C1, Load group A Column 2

1st 20 pt =3A

2nd 20 pt = 2A

3rd 5pt  ( part of every 20 pt) = 2 A  

--------------------------------------------------------------------------

Total                                          = 7A  



(b) Tennis court lighting   3 KW outdoor lighting exceeding 1000w

75% connected load  =    0.75 x 3000/240   = 9.4A

(c) Socket outlet

9 x 10A Single socket outlet                            =   9 pt

8 x 10A Double socket outlet  8 x 2               = 16 pt

Strip heater                                                         =  1  pt

--------------------------------------------------------------------------------

= 26  pt

Load Group B (i)

10A for 1st 1 to20pt,add 5A for additional 20 pt

Total  26 pt ----= 10+5  =15 A



Load Group B (i)

10A for 1st 1 to20pt,add 5A for additional 20 pt

Total  26 pt ----= 10+5  =15 A

(d)  15A  socket outlet ςLoad group B(ii)

1x 15 A socket outlet = 10A

(e)   10 KW Range

Load group (c) 50%

0.5 x 10x 103/240  = 20.8A



(f) 4.8KW water heater---Storage heater---Load group (F)

Full load  = 4.8x 103 / 240   = 20A

Maximum demand  (a)+(b)+(c)+(d)+(e)+(f)

7+9.4+15+10+20.8+20=   82.2A 




